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809 *4%FH 34011 Isststokookok4 548 (EELUEEDA @
810 i 342529%kskkakik001 3 B KIAL =5
811 * 5% 340703k k4026 B AL E'S
812 *1E 3 340103#s#skkkokekk 202 1 (EgLi=EDA 5’a
813 * B 34088 Iskstotokatoik(021 1 BT KIAL =5
814 *4 340405%xkkkk4%002 1 EH AL E’8
815 H 3401 22%kk5kckkk 2884 B T 5’
816 LSRN 130105%ksksk4k% 1 825 B KAL @
817 *E 34222 Ikl 2024 EHAL E’S
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5 <2 BHHES R KAL P51 T
818 * 35 342622%xkkkk4 %7987 == =LA S
819 *E 34042 Ikstotokaorok 1 21X B AL ES)
820 * A 341204%kkkk4k003X BT 5
821 L Ea i 341402%kskkk4%0620 BT KIAL @
822 N 340103%kskkktk 3017 B KL kS
823 *¥i 230223k 1929 (RS °©
824 * T 341602s%kkskkk4k3 189 B KL @
825 *EE 3412025kt 2927 T B 3'a
826 LR 340823%kkkk%%%0010 (EgLi=EDA 5
827 *R 3426225 kskkkokk2 1 64 B KL @
828 A AR il 340322%*k4kkk4k6046 BT AL @
829 o S0 140105%#0k430k%0829 B AL 7
830 S| 34012 I#skskkokkk 8805 (EELUEEDA @
831 L7 340103%kskkk4k 3527 B KIAL @
832 *EN 340123%xkkkk%8411 B AL %
833 * 7 I 341225%#kkkk%% 2026 (EgLi=EDA &
834 *F 340123s%kskkekkokk 362X BT KIAL @
835 * R 34012 Ixsrokokskk 490X EH AL E’8
836 *1% 340123skskkskokokoksk 1 672 B AL 5
837 H i 34262 2%kkkk4k 0486 B KAL @
838 * R 34118 Ik 2821 EHAL E’S
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5 <2 BHHES R KAL P51 T
839 * (5 34062 1 #skkiokkk 246 B H AL %
840 * 710 34022 3skskckolokk5 129 E 5 fr 4
841 * 5L 340122888k 776 et 5
842 3/ R 34011 Dsksokokakdok5039 BT KIAL =5
843 * L E 34260 Iktsokkeik(0624 B KL @
844 *7 341802%kkkkk% 1328 EH AL E‘8
845 * 341204s%kskkokokk 1812 BAT KA 5
846 KA 340121 skkdokorkk k4601 BT KL @
847 sl 3422243tk 1184 BT RAL %
848 * IR 340604 kstkstkkk24 12 BAT R 5
849 VAR 3622025k k46636 BAT R 5
850 *[F 340621 xkkkkx4408 36 BAT KT =
851 KPR 340122%kk30k%%4810 AT RIAL 5
852 B 53 34162 1ksktoiekorekkd 133 BT R 5
853 *fIRA, 340104skkskskkokokok 0544 BT ML @
854 * 5% 341203 xkkkkkk%4410 BAT KL 5
855 EXEEN 340406%kskkkkk 1637 BT KA 5
856 M 342425%5kkkkkk 2225 BATRKIAL 3’a
857 *5 34142 3%kk5kkkx001 1 BT R 5
858 FLIR 34012 I sektookoriok5839 BT KA 5
859 *fEER 340103skkstkiekrk201 1 BAT AL Ll
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5 <2 SHES R KAL P51 T
860 * 340123kt 7303 BAT AT 5es
861 * K 34011 Iskkskskskkk5000 BAT AL ES)
862 *M 341223k 2110 BAT A =
863 *JE 340603skkskkskkakk 1012 BT 5
864 *[jj 342622%4kk4k0120 BAT AL @
865 * V4 34012 3%kkkkckkk0015 BAT AL 5
866 AT 341202s%kskkkkskk 1 52X BAT KA B’y
867 * 5 A 34011 Iskekekokokokkk8527 BT AL 5’8
868 N 34012340k 4% 7693 e =L VA %
869 *[ 34011 Lssssotokokek4 53 1 EBAT R |
870 [y 2 34292 sekstsokoroiok06 1 2 BAT R 5
871 *SE IR 34240 Pskskskekekork 7612 BAT KT =
872 LTy 34122 Dkkkkkx4k6070 BAT R =
873 HE T2 340103%kskskokkek 3014 BT KA 5
874 *EH & 412702%%kkx4k% 1042 BAT A 3’e
875 IR 340203*kkkckekx051 1 BAT R 5
876 = 321323%kkskokokctok 3617 BT KA 5
877 *3V 7R 340123xkkkkkk%3112 BATRKIAL =
878 * 7 34040 3skskkkokookk 2424 BT XA &
879 *Vh 3401 22s%kkkkk%%3927 BAT I 1
880 *JiB 340121 kk4kkkk %461 X BAT A =
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5 <2 SHES R KAL P51 T
881 * T 3401 23%skkkkkkk 673X BAT AT 5
882 3 410224k kkkkxx%2914 BATRIAL 5
883 *1f 5 654 124%5kkkkk%k4425 BT KL 5’a
884 *FRE 34082 Tswsttiskokekk6313 BT R |
885 *5 3422224 kkkkkkx4432 BAT KL 5
886 = B 341226%kkkkkk%0225 BT KL i
887 * IR AR 341225%kpkskotkk 1 234 BT )
888 LR 340122s%kskskkkk 151 1 BT KA 5
889 * X 36031 kskskskskoork(0519 BAT AL 5
890 * 520K 340824 skkskskkokok6833 EBAT R |
891 *I 341202%*kkkkk4k129 BT KL 5’8
892 *{E 5% 610729kskkk4%001 7 BAT KL %
893 * 34240 I dskskkkx4k6936 BAT R =
894 *FF [H 340122%kkkkkk%5418 BAT KL 5
895 B 34290 Iskkskokrdok 3489 BAT A 3’e
896 * 7% 34240 Dksksksekoiekk 927X BAT R 5
897 * 3R 340822skkskkskskokek | 13X EBAT KA |
898 K N 340822%kkkkk%x1118 BAT AL 5
899 *EA 34032 1kskskskekekork 21 36 BAT M 5
900 * 30 H 34082 3skskskskskkkk4930) ZEAT R E:|
901 *ff 341024 k4kkkx%9 22X BAT A 4
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5 <2 BHHES R KAL P51 T
902 *IR 340122%kk30k 4% 1673 BAT AL %
903 * 3 34120 3%skkkkkk4017 BATRIAL 5
904 *f 34262 2% k%% 1 590 BAT A =
905 LN 341602s%kkskkkk08 14 BT KA 5
906 * 5% 341126%*k4kkx440239 BAT AL kS
907 * R0 3426223k kskskkokx6 1 54 BAT Rr 5
908 * A 341204%kskkk4% 2055 BAT KA 5
909 H IR 340102s%kskkktk 1015 BT KA 5
910 *1H Af 340122x4kkkkk%2412 BATKIAL 5
911 *FKFH 3401 22:kskkskkkokok 6473 EBAT R |
912 w7 34011 Iekstookokoiok4 533 BAT R 5
913 L 3401 223ks0kkk4k5273 BAT KL %
914 EIEFOS 220122:%4kkx4%0913 BAT R H
915 gl 34012 1 sekstookoroiok (0713 BT KA 5
916 *RA 340123kwkkkkx ] 11X AT R 5
917 * 53 341225%#kkkk%%0419 BAT KL 5
918 * NV 342622%kkkk4k551 6 BT KA 5
919 x4 HH 342425%wkk k4 %8434 BT R 5
920 * A 3401223 kkckk443918 BT R 5
921 *BEA 34012 3sskskkkkekek 789X EBAT KL |
922 * £ 340123kkkkkk% 1 656 BT RIAE 5
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5 <2 BHHES R KAL P51 T
923 * 72 [ 3401 23kkkkdok k2333 BT KA k2
924 L 340323xkkkkxx%0036 BAT AL 2
925 *TRIR 320723%kkkkkkk5425 BT KL 5’a
926 SUREVE 340103%kkskkk4k 3036 BT KA 5
927 *[7R 3411245%*k44%kx4%0016 BAT AL kS
928 s R 34122 13seksieonseonk 4433 BAT R %
929 * 0 A 340102s%kkskkkeik6034 BAT KA 5
930 i 341223%skkokkokk451 1 BT KA 5
931 *EFF 34011 1tttk 1 55X BAT KA 5
932 it 34242 3s%kkskokokkk 7879 BAT KA 5
933 * LI 340403skkskkskkk% 1816 BAT R 5
934 *yih 340123%kkkkx4k8254 BAT KT =
935 * MM 4109284 kkskkkkk 4882 IBAT L 5’8
936 *[\] fH 341222kskkskskekk 555X BAT KA |
937 335 34052 kskskskekeork6210 BAT A =
938 *VL P 34062 1xskskkokokkk1213 BAT KL 5
939 *¥PH 34062 1sksistoeskork 1211 AT R 5
940 *H 341502 kk30k%%6917 1BAT KL %
941 R 340122%*k4kkx4%0030 BAT M =
942 * 340122k 001 3 BT KA 5
943 * I 340123 #kk0kkk4672 AT RAL %
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5 <2 SHES R KAL P51 T
944 *IMA 3401223k 737 1 BT KIAE 5B
945 N[ 34122 Lokt 3434 BAT RN 5
946 *FK RN 34260 Iksksskskrdok5017 BAT A =
947 IV 34240 Ikokkiokkx6713 AT R 5
948 * 342225%k4kkx41014 BAT AL kS
949 * KR 340828+skskkkkk2136 BAT KL 5
950 *ZEIA 130629 kskkaksiokok (0412 BAT KA 5
951 *37 34072 I skstookoriok0018 BT KA 5
952 *fEE 34132 kkkkokkk 3028 BT KL i
953 *EE P 34012 3%kkskkkiok 1405 BAT KA B’y
954 4 IR 341203%kkskokkkk44 16 BAT R 5
955 5K 4114023k 4504%551 2 BAT KL %
956 * 34132 1kskskskokork 4517 BAT R =
957 * 34060 3s%kkskkkik0213 BT KA 5
958 AR 34240 ksksksiekoiekek 567X BAT A =
959 * 5% 341126%kkkkkk%k3613 BT KL E:|
960 LRI 14041 Iststokatoork 6034 BT KA 5
961 *R T 340103k 2510 BATRKIAL 5
962 * 5% Jbk 34012 [sststokookok 4632 BT XA e
963 EE 1304265*s4k4%4%0016 BAT RN 5
964 *Faf 340828*kkikckekx(093 1 BAT XIAT =
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5 <2 SHES R KAL P51 T
965 *E B 340823 #kkokkk1218 BAT KL %
966 *7K 34062 [kkkskskokdok 1232 BAT AL ES)
967 x5 410926%kskskkkckk 2483 BAT A 5es
968 *T 77 34240 1 sksdoksdokdok 1 891 BT 5
969 * [ 340404kkkkk4k22 1 X BAT AL kS
970 * 2 34292 3%kkkkckkk0019 BAT AL 5
971 *f5 % 34050 3s%kkskkkik 0629 BAT KA B’y
972 * 513822skstkskokokk 2442 BAT R @
973 * T 34142 1ok 5255 BAT AL 5
974 * KK 342530%kkskkkkk 2510 BAT KA 5
975 R AL 340104s%kkskkk4k0533 BAT R 5
976 *52 K 341182%kkskckekk 2014 BAT KT =
977 *IRAE 340102 k4kkkx4%6053 BAT R H
978 P 61072 skokskotok k2324 BAT R 5’8
979 S (Epu 34128 kskkokkk2437 AT R 5B
980 * B2 HE 6227 2T+%kkkkkk 2022 BAT KL 5’a
981 Ll ES 340123kkkkkkk%7695 BT R 5
982 *ERHT 3424 22Kk %kk% %581 2 BAT R %
983 *HHH 341282tk | 834 BAT M 5
984 *IH 341126%+4kkkx62823 BT RIAL 5
985 *iE 342622%55kkkkk01 15 BAT R 5
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5 <2 BHHES R KAL P51 T
986 *f 34062 1 #skkiokkk5232 BAT AL %
987 * 3 411524 kkkkkxx 361X BATRIAL 5
988 * YR 342425%k4kkx4%4710 BAT A =
989 H T I 341503 ksksistkskerk325X BT R |
990 PR 34012264235 BAT KA 5
991 *FN iR 340203 kkkk4%0528 IBAT RN 1
992 B 41272 Ttttk 7800 EAT R 5’8
993 *3% L 340123%kskskokkk 7914 BT KA 5
994 A 34122 1 #skskskokokokk 4651 BATKIAL 5
995 * I 340104skskkekkkk552X BAT KA B’y
996 * 342625%kkskkk4k0295 BAT R 5
997 * 34250 Ikskskskokrdk 7629 BAT KT 3’e
998 *EHE 230602k 1027 IBAT L 5'e
999 4 IR 340304 ktckkotokx 1023 BAT R 5’8
1000 * 52 AR 341222%8kkkkk%007 | BAT AT 5
1001 * 34240 Dksksksekeiokk 3014 BAT X7 5
1002 IR I 340122%kkkk4k0174 BT KA 5
1003 *0 340823 kkkkskkkk 1 226 BATRKIAL 4
1004 * R F 341282440035 BT KDL =
1005 AR 34082 3sskskokkoiok 3734 BT KA 5
1006 AT 340123%kkkkkkk 2151 BAT R 5
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5 <2 SHES R KAL P51 T
1007 *{g A 340103%kks0k4%2517 BT R %
1008 * S 34240 1 tstkokek4:48880 BAT R B’y
1009 *E 410782%kskskkkckek 1948 BAT A 5es
1010 * 24 340102s%kkskkk4k 2535 BT KA 5
1011 *ZE A 34262 5%kkkkkkk 1 694 BT 5
1012 * B 3424 25x%kkkk%%0562 BAT KL E’a
1013 *f5 34292 Iskstokstokrk4015 BT 5
1014 Lyl 342422k kx4 (0378 BAT R )
1015 *IK A 340122k 7379 IBAT AL 5
1016 *FT 341102skkkkk%%6439 BAT KT 5
1017 * 5 342222kkskkkokk 6024 BAT KL 4
1018 * 34242 3%kt 1 770 BAT KT =
1019 *ZE 340828*skskkskekakk(] 32 BT KIAT =
1020 *f= 34012 3ksokdok4k 487 1 BAT R 5
1021 * 31 AH 34162 Ikskskskkkkk 2910 BT KA 5
1022 *F 340123k 2590 BT KL E:|
1023 ') 34032 3s%kkskkktk0057 BT KA 5
1024 *PRAE 34122 Ikswikkkx699X BAT R %
1025 37 3426224 % kkkk%*k4316 BT KA 5
1026 * 5 H. 34011 Iekstofokakoiok 1 574 BT KA 5
1027 *2E 411524%%kkx4%k%5625 BAT A 3’e
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5 <2 SHES R KAL P51 T
1028 £359'8 34262 2% kk5kck4k4099 BAT AT =
1029 * 340123%kskdokdok 191X BT 5
1030 * 5 341323%kkskskckekok 1 211 BAT A =
1031 *37 320882k kkkkx% 2616 BT =5
1032 *Uifs 1F 34011 Iskstokstokkk5018 BT 5
1033 *, 34262 2% kk¥kkkk5655 BAT AL 5
1034 *iH 34022 [kskskskokrkk 21 37 BAT AL 5
1035 * 5 BH 340103kskstoickokekk4548 AT R 4
1036 * BN 340102%kkkk4% 2536 BATKIAL 5
1037 * [ A 3401 22%kkkkkk%k57 32 BAT KT 5
1038 KT 2 342401 #kskkokkokx 9457 BT KL 5
1039 *2J] 341022%*k4kkx4%0013 BAT KT =
1040 ES GRS 341202%kk%kck4k0212 BAT R =
1041 * KR 34122 7kkskkk4k8376 BT KA 5
1042 *Br G 340406tk 3426 AT R 5'8
1043 *PEF 340103%*kkkkx4%k3018 BAT R =
1044 *IE RN 341181 kstkkkk40628 BT RKIAL i@
1045 * A% 340104kk4k4£0025 BAT R %
1046 NN 3411 25%k4kkk443986 BT KA &
1047 *EFE 410183skskokroiokk4d 317 BT KA 5
1048 o [ 18 3604 28k*xk0kk%%6015 IBAT KA 5
% 50 B, 352 0T




5 <2 BHHES R KAL P51 T
1049 *K G5 34162 1kkkkkxx292X BAT AT 4
1050 *J7 340103skksskkkkk 151X BAT AL ES)
1051 * 34132 3%kkkkckkk0015 BAT KA L
1052 *PRA 321323skskclololek 6110 EAT L !
1053 */NGE 320682%kkkkkkk6125 BATRIAL 1
1054 *PE5K 340121 xkkkkkk%9113 BAT KL 5
1055 *4x B 340122%%kskkkkk4 138 BAT KA 5
1056 *E 34011 Iekstskokekeiok5010 BT KA 5
1057 * 340122k [ 21X BAT AL 5
1058 *FETH 4114243545k 1030 BAT KA 5
1059 * R0 34122455k k4k5626 BAT R B’y
1060 i 5 341227 **kkkkx4%k2333 BAT KT =
1061 *3 34088 1kskskskskekakk(0815 BAT R =
1062 (A 34262235k 7955 ZAT R r 5
1063 <B4 43038 Iwsksksksieskekek 1 714 BAT R =
1064 * 341402%kk5kckkk467X BAT X7 5
1065 * KA 34188 Lskststestotokok() 1 58 EBAT KA |
1066 *3/. 340824 %#kkkk4%0032 BATRKIAL 5
1067 *[a] PR 341226k kskckkx5731 BT R 5
1068 *#fiff 22028 Iskstokstokkk 3416 BAT RN 5
1069 *EMR 372928kkk0k4x1011 BAT R %
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5 <2 SHES R KAL P51 T
1070 *Ii 34052 [ #siskolkiokok 1615 BAT AT 5
1071 * 34011 Isskookkk 2010 BATRIAL 5
1072 3 34080 3kskskkskekokk 2433 BAT XL =
1073 LY 34122 THkstokokotok k4833 BT )
1074 * [ SR 340403kskkkkk% 1 816 BT 5
1075 IRES 34240 [isksoksok k276 BAT R %
1076 *11 340822 kkkskotokk 141X BT )
1077 *5F 34242 Txsksokoroiok 4429 BT KA 4
1078 LN 34082 3kskskkskckakk5 339 BAT AL =
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